



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{3}{5} - \frac{1}{6}\right) =$$

$$\left(\frac{1}{5} - \left(\frac{2}{3}\right)^2\right) \times \frac{2}{3} + \left(\frac{1}{2} - \frac{2}{3}\right)^2 =$$

$$\left(3 + \frac{1}{3}\right)^2 - \frac{1}{3} + \frac{1}{2} \times 3^2 =$$

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 - \frac{2}{5}\left(\frac{3}{2} - \left(\frac{2}{5}\right)^2\right) =$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{2}{5} + 3^2 - \frac{1}{2} =$$

$$\left(\frac{3}{4} - \frac{1}{2}\right)^2 + \frac{2}{5}\left(\frac{1}{3} - \frac{2}{3}\right) =$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{3}{5} + \frac{1}{6}\right) =$$

$$\left(\frac{1}{5} + \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{1}{3} + \left(\frac{2}{3}\right)^2\right) =$$

$$\left(\frac{3}{2} - \frac{2}{3}\right)^2 + \frac{2}{5}\left(\frac{3}{4} - \frac{1}{6}\right) =$$

$$\left(\frac{1}{2} + \frac{3}{2}\right)^2 - \frac{2}{3}\left(\frac{3}{5} + \left(\frac{1}{4}\right)^2\right) =$$



Nombre: _____

Fecha: _____ Puntuación: _____

$$\left(\frac{1}{2} - \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{3}{5} - \frac{1}{6}\right) = \left(-\frac{13}{60}\right)$$

$$\left(\frac{1}{5} - \left(\frac{2}{3}\right)^2\right) \times \frac{2}{3} + \left(\frac{1}{2} - \frac{2}{3}\right)^2 = \left(-\frac{73}{540}\right)$$

$$\left(3 + \frac{1}{3}\right)^2 - \frac{1}{3} + \frac{1}{2} \times 3^2 = \frac{275}{18} = 15\frac{5}{18}$$

$$\left(\frac{1}{2} - \frac{3}{2}\right)^2 - \frac{2}{5}\left(\frac{3}{2} - \left(\frac{2}{5}\right)^2\right) = \frac{58}{125}$$

$$\left(2 + \frac{1}{2}\right)^2 + \frac{2}{5} + 3^2 - \frac{1}{2} = \frac{303}{20} = 15\frac{3}{20}$$

$$\left(\frac{3}{4} - \frac{1}{2}\right)^2 + \frac{2}{5}\left(\frac{1}{3} - \frac{2}{3}\right) = \left(-\frac{17}{240}\right)$$

$$\left(\frac{3}{2} - \frac{1}{2}\right)^2 - \frac{1}{2}\left(\frac{3}{5} + \frac{1}{6}\right) = \frac{37}{60}$$

$$\left(\frac{1}{5} + \frac{1}{2}\right)^2 - \frac{1}{3}\left(\frac{1}{3} + \left(\frac{2}{3}\right)^2\right) = \frac{623}{2700}$$

$$\left(\frac{3}{2} - \frac{2}{3}\right)^2 + \frac{2}{5}\left(\frac{3}{4} - \frac{1}{6}\right) = \frac{167}{180}$$

$$\left(\frac{1}{2} + \frac{3}{2}\right)^2 - \frac{2}{3}\left(\frac{3}{5} + \left(\frac{1}{4}\right)^2\right) = \frac{427}{120} = 3\frac{67}{120}$$